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ﬁ;&g TREOBHOEILADKRES TREDOHBEBSILADKRES TREOBHOEILADKRES TREDHBESSLNDKRES
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; 100kN/m%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mM%# %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 4.77 5947 | FnhLS | 000 ~ 000|175 8.82 znLs 1.00 | .00 ~ 5.00 59.47 | #nLS | 6.00 ~ 500|175 8.82
2 100kN/mM%#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
Fh s 1.00 | 0.00 ~ 749 95.72 | =4t | 000 ~ 749229 11.67 Fh s 1.00 | 6.00 ~ 10.00 95.72 | #nS | 5,00 ~ 1000] 2.29 11.57
3 100kN/mM%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 6.89 87.31 | hds | 000 ~ 689| 1.88 9.50 znLst 1.00 | .00 ~ 8.80 87.31 | #hs | 500 ~ 880 | 1.88 9.50
4 100kN/mM%#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 000 ~ 742 94.72 | =S 000 ~ 742|185 9.33 znLs 1.00 | .00 ~ 9.80 94.72 | #nLS | 5.00 ~ 9.80 | 1.85 9.33
5 100kN/mM%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mM%#8 %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 7.51 96.07 | =hS | 000 ~ 751236 11.94 znLs 1.00 | 5.00 ~ 10.40 96.07 | #nLs | 5,00 ~ 1040|236 11.94
P 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 0.03| 10044 |3mEBZB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1142 ~ 1150 100.44 |3mEREZD - ~ — — —
Fh s 1.00 | 0.03 ~ 781 100.00 | #hdst | 000 ~ 781|241 12,18 Fh s 1.00|5.00 ~ 1142 100.00 | ThLS | 5,00 ~ 1150 | 2.41 12,18
- 100kN/mM%Z#B% % — -~ - —|3mZEEZB]| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ B - ~ — — —
s 1.00 | 0.00 ~ 747 95.46 | =nLs | 000 ~ 747\ 1.81 914 znLs 1.00 | .00 ~ 9.80 95.46 | =nLs | 5,00 ~ 9.80 | 1.81 914
g 100kN/mM%#B% % — -~ = —|3mZzEZB| — ~ — — — | 100kN/mM%#8 2z 3 — - ~ — —|3mZEBZ B - ~ — — —
ZnLs 1.00 | 0.00 ~ 4.55 56.78 | NS | 000 ~ 4.55| 1.90 9.59 s 1.00 | 5.00 ~ 5.00 56.78 | #nLs | 5.00 ~ 5.00 )| 1.90 9.569
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ Zh s ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh st ~ zhst ~ zh st ~ ZThst ~
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